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New Q& As of CCNA 640-802 Exam

1. Which two devices can interfere with the operation of awireless network because they operate on similar frequencies? (Choose
two.) A. copier B. microwave oven C. toaster D. cordless phone E. IP phone F. AM radio Answer: BD 2. An administrator is
unsuccessful in adding VLAN 50 to a switch. While troubleshooting the problem, the administrator views the output of the show vtp
status command, which is displayed in the graphic. What commands must be issued on this switch to add VLAN 50 to the database?
(Choose two.) A. Switch(config-if)# switchport accessvlian 50 B. Switch(vlan)# vtp server C. Switch(config)# config-revision 20
D. Switch(config)# vlan 50 name Tech E. Switch(vlan)# vlan 50 F. Switch(vlan)# switchport trunk vian 50 Answer: BE
Pass4sure have updated the CCNA 640-802 product, and the latest version cotains 463 Q& As. |If you need the complete passdsure
test questions for CCNA Exam, you can visit Latest PassAsure CCNA, maye it helpful for ur exam!
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